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QUESTION 1

Which function does the "RS" module for the ERS 8000 provide that the "R" module does not? 

A. multiple port mirroring 

B. multiple port cloning 

C. SMLT functionality 

D. extended port monitoring 

Correct Answer: C 

 

QUESTION 2

Using Enterprise Device Manager, the technician opens the ERS 8000 switch and sees that there are five ports showing
with an orange light. 

What does the orange light indicate? 

A. The Ports have no link. 

B. The Ports are in standby mode. 

C. The Ports are being tested. 

D. The Ports are manually disabled. 

Correct Answer: B 

 

QUESTION 3

Both the VSP 9000 and ERS 8000 systems support Custom Auto-Negotiation Advertisements (CANA). 

These advertisement messages are used by both ends of a link. 

What information do these messages determine? 

A. Speed and Duplex 

B. Speed and Link type 

C. Speed and Protocol 

D. Speed and link status 

Correct Answer: A 
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QUESTION 4

QoS is the ability to manage the performance of data flows by giving treatment to the data flows, users, and
applications. 

For which two network problems would QoS be a good solution? (Choose two.) 

A. interface duplex mismatch 

B. slow route table convergence 

C. lack of bandwidth 

D. end-to-end delay 

E. network loops 

Correct Answer: AE 

 

QUESTION 5

A campus network requirement is to introduce Virtual Routing and Forwarding (VRF) in the existing Virtual Services
Platform (VSP) 9000 core. The technician needs to configure VRF on the VSP 9000. 

Which statement represents the proper order for configuring a new VRF? 

A. Create a new VLAN, add an IP address, create a VRF, and move the VLAN to the new VRF. 

B. Create a VRF, add an IP address, create a new VLAN, and move the VLAN to the new VRF. 

C. Create a VRF, create a new VLAN, add an IP address, and move the VLAN to the new VRF. 

D. Create a VRF, create a new VLAN, move the VLAN to the new VRF, and add an IP address. 

Correct Answer: C 
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